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ECONOMICS
Paper — 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

Full demographic dividend will be realised when government promotes
(1) more social security (2) more intensive growth
(3) more skill development (4) more capital market

Which one of the following is true for the General Fertility Rate ?
(1) Itisan actual measure of fertility.

(2) Itisa potential measure of fertility.

(3) Itisan actual measure of female population composition.
(4) Itis based on hypothetical age specific birth rate profile.

Which among the following curves is used to depict the long run behaviour of population
growth ?

(1) Normal Curve (2) Logistic Curve

(3) Exponential Curve (4) Ogive

Among the socio-economic factors responsible for high birth rate in India, we may include
(i)  Large scale poverty

(i) High mortality rate of children of poor parents

(iii) Prevalence of under-age marriage

(iv) Adverse sex-ratio

(1) (i) and (ii) (2) (i), (i) and (iv)

(3) (), (iii) and (iv) (4) (i), (it) and (iii)

Match List — I with List — Il and give the correct answer from the codes given below :
List—1 List - 11
(Event) (Date)

A.  World Environment Day (i) 11" July

B.  World Wildlife Day (i) 5™ June

C.  World Water Day (i) 3" March

D. World Population Day (iv) 22" March

Select the correct answer from the codes given below :

Codes :

A B C D

@ o @ (i) (i)
) @iy @) (>v) (i)
@) @(v) (i) (i) (i)
@) @ @)y (v) ()
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6.  The coase theorem suggests that private negotiation will lead to the correction of market
failure when

(i) Only a few people are involved.

(i)  Property rights are clearly recognised.

(iii) Negotiation costs are low.

(iv) People are having asymmetric information.
Select the correct answer from the codes given below :
Codes :

(1) (i), (i) and (iii) must hold true.

(2) (i) and (iv) must hold true.

(3) (i), (i) and (iv) must hold true.

(4) (iv) and (iit) must hold true.

7. Infrastructure cess is a levy/tax on
(1) Builders (2) Railways
(3) Motor vehicles (4) Public Transport

8. SLR can be defined as

+1- —-1S+
1) sLr-ER*1-CB () sLr-ER=1S+CAB
L L
ER + IS + CAB L +CB +ER
(3) SLR= - (4) SLR==—"15—

Where ER = Excess Reserve; IS = Investment in Government and other approved
Securities, CAB = Current Account Balances, L = Total demand & Time deposits.
CB = Current Balances, | = Investment, SLR = Statutory Liquidity Ratio

9.  Which among the following measures would result in an increase in the money supply in
the economy ?

l. Purchase of Government Securities from the Public by the Central Bank.
Il.  Deposit of currency in Commercial Banks by the Public.

I11.  Borrowings by the Government from the Central Bank.

IV. Sale of Government securities to the public by the Central Government.
Select the correct answer from the codes below :

Codes :
(1) lonly (2 HandIV
(3) landlll (4) I, land IV
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6. IS IHT I G & foh Tt Tmeiicr ¥ IR STheidT 39 99 4 & STl § S
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@) (i), (i) 3% (iv) F 3w BT T G T C |
(4)  (iv) 3R (iii) T 2MEAYTH €T T I TAT ST |

7. GO SU fRE W U UR[eH/AT § 2
(1) foeex 2 ™
(3) TewmEat (4) eSS URER

8.  SLR I 29 YehI TR fohar T & -
ER+1-CB
L

ER-IS + CAB
L

ER + IS + CAB
L

L+ CB+ER
(4) SLR= S

Sl ER = f=id (emmfer) enfuesm ; 1S = SRRt X 37 e e wiayfaat # a1, CAB =
Te] @1 99, L = et °T SR grety s, CB = = 9, | = 4w, SLR = S avetar
EERin]

(1) SLR=

(2) SLR=

(3) SLR=

9. o A form U 1 uRomH TE feherdn & o srelegeren § g1 oMyfa § S@iadt el & ?
I, T &% §RT SR Tiagfaat &6 o & TERT |
[I. @ R arfviaes St § TR o ST T |
[l TR FR H5F 9 § IUR & |
V. =T WHER FRT GHRE Uit s @ s S==T |
P U T el 3T H T A
FT
(1) el
() NIV
(3) I3
(4) 1, 1AV
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10.

11.

12.

13.

14.

15.

The banks which are implementing the Micro Finance Programme linked with Self Help
Groups (SHGs) are

(1) Commercial Banks and Co-operative Banks, only.

(2) Regional Rural Banks and Commercial Banks, only.

(3) Co-operative Banks and Regional Rural Banks, only.

(4) Commercial Banks, Regional Rural Banks and Co-operative Banks.

Which of the following is generally called as Aggregate monetary measure of money
supply ?
1 M, 2 M

@) M, 4) M,

The traders reduce the risk of loss in currency fluctuations through which of the
following ?

(1) Speculations (2) Arbitrage

(3) Hedging (4) None of the above

Among the reasons responsible for the high inflation rate in India in 2015, which of the
following is/are true ?

(i) Risein prices of petroleum products.

(if)  rise in food prices.

(iii) Rise in domestic consumption demand.

(iv) Rise in Indian Exports during the year 2015-16

Select the correct answer from the codes given below :

Codes :
@) (), (i) and (iv) (2) (i), (i) and (iii)
(3) (iii) and (iv) (4) (ii) and (iii)

Originally, the maximum and minimum limits of the Statutory Liquidity ratio prescribed
in India was

(1) 40 percent and 20 percent (2) 40 percent and 25 percent

(3) 30 percent and 25 percent (4) 30 percent and 20 percent

Which among the following are the recommendations of the Urjit Patel Committee report
of on monetary policy ?

l. Curtailment of the fiscal deficit.

Il.  Inflation anchor at four percent.

I1l.  Providing adequate liquidity in the money and capital market.

IV. Pegging the exchange value of Indian Currency.

Select the answer from the code below :

Codes :
(1) I, land I (2) Illand IV
(3) Hland IV 4) I, landIV
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10. o 9% St @d e G9E! (TH.09S.) W Feitud o foxiia st @ hafad s @ E, 9 €
(1) shearet enfuTsaeh e 3T hi-SAwRiee S
(2) et ST AT Sk 3R ANfuIieh S
(3) hael Wi-ATmfes g 3T &5tg urHor S
(4) EToTTSoreR Sieh, &I UTHIOT Sih TR hl-SRIeT 5

11. =9 9 8 AR W gsT (a1 Gehol Hifgeh HT el STl & 2
D M, (2 M,
@ M 4 M

12. = ¥ ¥ frass ATy | ORI GET STarae B % SEH H HH Hd © 2
(1) weawt (2) fgam=
(3) & (Hedging) (4) I T GBS Tel

13. 9RA Ha¥ 2015 H 39 YRR X & STHER SRH 5 § =1 § @ BF T/H 8 T € 2
(i) Uiferam ScET o 9o | gy
(i) @& ¥ gl
(i) =Re] STHRT B T E gy
(iv) @92015-16 | 9Rd= Faid o gig
e 5T 70 $e § T IR B A5 B
%
) (), (ii) &R (iv)
@ (i), (ii) M (i)

(3)  (iii) 3R (iv)
(4) (i) 3 (iii)
14, 9RT ¥ FEiRT Senfer aRetdm ST ot STehan 3R =Aan ST TR | 7 o 2
(1) 40 wfeTd 3R 20 wfASTd (2) 40 wfTRTd SR 25 AfATd
(3) 30 Wfaerd 3R 25 HfdwrE (4) 30 mfqerd 3R 20 Hfdw
15. TF=fafEd, § @ i 35T 9ot SHer o Hifgeh i Geret [T Tet & 2
I, TSR A S i e
[I. TR SRS H 4 WIS T TG
1. ST e USit TSR | 2T aRetdl bl e
IV. 9RAE T & a9 9o @i smaiatad @A
T fore e & 3T [
TR
ORENIEAI
2 NIV
(3) Mav
@ 1LIaIVv

J-01-16 7 Paper-I111



16.

17.

18.

19.

20.

Assertion (A) : Monetarists disagreed with the Phillips curve analysis.

Reason (R) : There are no unique correspondence of % inflation rate with %
unemployment rate.

Answer from the codes below :

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).

(3) (A)istrue and (R) is false.

(4) (A)isfalse and (R) is true.

Who among the following economists considered the rate of interest to influence the
transaction demand for money ?

(1) P. Samuelson (2) W.J. Baumol

(3) Keynes (4) 1 Fisher

Consider the following statements about rising NPAs of banks in India :

l. Rising NPAs are due to slow down in the world economy.

Il.  Private Sector banks have lower NPAs in comparison Public Sector Banks.
I1l.  Rising NPAs are due to droughts in India.

Which of the statements given above is/are correct ?

Codes :
(1) Onlyl (2) landlIl
(3) landll (4) I, Hand I

Among other things, which one of the following was the purpose for which Deepak
Pareksh Committee was constituted ?

(1) To study the socio-economic conditions of minority communities.

(2) To suggest the measures for financing the development of infrastructure.
(3) To frame the policies on genetically modified seeds.

(4) To suggest measures to reduce the fiscal deficit in the Union Budget.

Consider the following statements.

I.  Sick Company is defined as one whose accumulated losses in any financial year are
equal to or more than 50% of its average net worth during previous four financial
years.

Il.  The Government set-up Board of Industrial and Financial Reconstruction in 1987.

Which of the statement given above is/are correct ? Select the answer from the codes

given below :

Codes :

(1) Onlyl (2) Onlyll

(3) Bothlandll (4) Neither I nor Il
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16.

17.

18.

19.

20.

AtHE (A) : qRTER!, TRleTe ash faveivor @ sraeyd o |

HRT (R) :;ﬁmﬁéﬁwﬁﬂ%wwfwmﬂme&%ﬂwaﬁéaﬁaaﬁmmﬁ
|

T KT MU F I WS

&<

(1) (A) 3T (R) IHT T € 3R (R), (A) T Tel WL & |

(2) (A) 3R (R) IHT T € 3R (R), (A) FT Tel TILIHT Tl ¢ |

(3) (A)IFE, AR (R) T ¢ |

(4) (A) T &, 3R (R) A€ |

fefefad § 9 forg SIvmElt 3 3T & oF-39 1 T Sl Tifad % & foT ST T T HROT
AT E 2

(1) o FgeerEd (2) T=IS. A

(3) 4 (4) T TR

YR T Sl & dgd §u TR et & ar i Al W em T

I, 9d gU IR-FoIRE et fave sreiegeren & e g o1 uRoms € |
II.  9RA o o7 Sl B, Tresii-eh Sl % Jebrarct, TR-Foamg-e enfeaat &0 € |
I, ¥d gC IR-Foae- o TRa § T ol GHET H1 IRomE ¢ |

T W B T FA el € 2 T ford Fe TSRS |

(1) el
) 1al
(3) 14l
4 L=l

3T AT o AIY-TTY, 3195 IRE AT o TS & 7 § I 1 329 T 2
(1) oTo0 =g TSR & AHISH-STIH M & 79 & |

(2) I ok i foriE TEEdT U o Aot ST 1 oI o & |
(3) oTHITeTeR 9 ¥ Watgd disi &q i =T |

(4) FS IS H TSR =S hT HH A dTet Ul S FdqM & |

1 Pt W o &L

(1) T Tor HEET B ARt 91 % o Use 9R o oot § et "er SHe
50 wfaera 3T et i & sRie] a1 SEd AT 8ar & |

(1l) THR T 1987 T SETH 3R faxiar faf-mior S s6r T |

I H 9 i /T FUT TEl € 2
(1) = (1) (2) e (1)
(3) (1) 3 (1) (4) T (1) AT (1)

J-01-16 9 Paper-I111



21.

22.

23.

24.

25.

Consider the following taxes :
(1)  Corporation tax (i) Income tax
(iii) Service tax (iv) Union Excise Duties

Which of the following correctly describes their contribution, in descending order of
importance, to the Central Government’s Gross Tax Revenue ?

@) (@), (i), (iv), (iii) (2) (i), (1), (i), (iv)
3) (i), (i), (i), (iv) (4) (i), (i), (i), (iii)

Which Finance Commission has used forest cover as a criterion for horizontal distribution
of resources in India ?

(1) 10" Finance Commission (2) 12" Finance Commission
(3) 13" Finance Commission (4) 14" Finance Commission

Consider the following :

Assertion (A) : According to Peacock-Wiseman hypothesis, public expenditure increases
overtime in a step by step manner.

Reason (R) : This hypothesis is based on the displacement effect, concentration effect and
inspection effect.

Select the correct answer from the codes given below :

Codes :

(1) (A)is true, but (R) is false.

(2) (A)is false, but (R) is true.

(3) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

In the Indian context, the studies of poverty were made by

(i) Dandekar and Rath (i) P.K. Bardhan

(iii) B.S. Minhas (iv) 1J. Ahluwalia
Select the correct answer from the codes given below :

Codes :

(1) (i) and (ii) (2) (ii) and (iii)

(3) (i), (i) and (iii) 4) (), (i), (iii) and (iv)

Who among of the following is associated with the theory of optimal taxation ?
(1) H. Dalton (2) R.A. Musgrave
(3) U.K. Hicks (4) G. Mankiw
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21.

22.

23.

24,

25.

e 0 W fomm &1

(i) T
(i) @
(i)

(iv) 9 3AE Yok

At o b 91 fohed Tt 31 T o TWHR & Tohel K ToT H Hedl & B T YeaEl
Y T IR i ST LT € ?

Q) (@), (i), (iv), (iii)

(2) (i), (i), (iii), (iv)

(3) (i), (i), (i), (iv)

@) (iv), (i), (i), (iii)

o Tesiied & i fohd formd T 3 arRa | FHreAT o1 ST 3T i Tk B 71 ¢ 2

(1) 10@t fa= T (2) 129t foa T
(3) 13at fa AT (4) 143t foa s
et w fomm =

AR (A) : ThTh-aTETH % fgid & SAR olich &9 R 918 LY Jedl § |
FROT(R)  : J¢ T foremom v, ohwso7 U 37 18707 el 0¥ 3Tenfie ¢ |
T 3T 7T e | W TEl W H T A

(1) (A) Fe g, =< (R) T & |

(2) (A) 7T &, W (R) W& € |

(3) (A) X (R) IHT el € W (R), (A) FT el Tiahol Fal & |

(4) (A) 3T (R) TH W& €, W (R), (A) FT el LT & |

IRA % T | TR T e fhaeh §RT fohar T 2
() T AR T

(i) TF T

(iii) sruE. e

(iv) STES. sFecaneran

T i3 MU Fet | TE IR A T A

% :

L) (i) 3w (i)

) (ii) 3R (iii)

3) (i), (ii) i (iii)

@ (i), (ii), (iii) 3R (iv)

1 & § B STIHITH BRI (SATUTCHE SFIeH) % (agid 9 e € 2

(1) U= e (2) SIRT THUd
3) I fer 4) < T
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26.

27.

28.

29.

30.

To reach an economically efficient output level, the size of an excise tax imposed on a
firm generating negative externality should be

(1) the firm’s marginal cost

(2) the social marginal cost

(3) the difference between the social marginal cost and the firm’s marginal cost
(4) the sum of the social marginal cost and the firm’s marginal cost.

Which among the following is the reason for Convergence exhibited by the Solow growth
model ?

(1) Static capital-labour ratio.

(2) Declining marginal productivity of capital.
(3) Neutral technical progress.

(4) Constant rate of growth of population

Who among the following economists was not concerned with the problem of surplus
labour ?

(1) W.A. Lewis (2) Gustav Renis and Fei
(3) R. Nurkse (4) J.S.Mili

Match the following lists :
List—1 List- 11

A. Aggregate demand (i) -a+by
B. Consumption function (ii) C+1
C.  Aggregate supply (iii) a+by
D. Saving functon (iv) C+S
Select the correct answer from the codes given below :
Codes :
A B C D

1) (i) (i) (ii)  (iv)
2 (@)  (v) (i) (i)
@) (@)  (iv) (i) (iii)
@) (@) (i) (i) (i)
Who is the author of the book, ‘Capital in the Twenty First Century’ ?

(1) Thomas Piketty (2) Joseph Stiglitz
(3) AK.Sen (4) Jagdish Bhagwati
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26.

217.

28.

29.

30.

3MMTH T F FI IR TR U FH o [T FONHS IRIAT T G e arell [ohadl F R
T A ATel IS T I STMHR BT AT

(1) wH = G A

(2) QISR G AT

(3) WIS HHTT TINTT e %H i T ST & s 3R
(4) SIS HHTd ST q&T EH St HHI AT 1 anT

f=ifeha o @ i Hell & Ggfg Aisel §RT TSI WHe (SFast—a) 1 HRIT &
(1) TR Isi-9m 3rud (2) YT I Fedt g2 G SeATRehar
(3) T T-iren! W (4) e gk B R

iR o | i TR SRS o/ St THe § Hatad Tet o 2

(1) ==4U = (2) TRETEIEE
(3) R TN (4) Siua o
feAitend gt =t gafera
= - | =it - 11
A, FETH (i) -a+by
B. 3SMm e (i) C+I
C. wmuqd (iii) a+by
D. sua®eE  (iv) C+S
9 13T 7T 2t | TEl 3T B FIT A
F:
A B C D

@ Gy @ qGi)y o (v)
@ @Gy (v) (i) ()
@) @Gy @v) @) (i)
@ @iy (i) (v) ()

feAiteRd & | A “HUect 39 § Zoet e Uil Jdsh o @ & ?
(1) e fucket (2) S ferfes
(3) T©®H T (4) TR Wt
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31. Match List—1and IlI.

List -1

(Economic Idea)

Organic Composition of

List - 11
(Economist)
(i) Karl Marx
(i)  Alfred Marshall
(iii)  Francois Quesnay
(iv) F. Modigliani

Select the correct answer from the codes given below :

A. Life Cycle Hypothesis
B. Tableau Economique
C. Cash Balance Approach
D.

Capital
Codes :

A B
1 @ (ii)
(2 (iv)  (iii)
() (iv) (i)
@) @) ()

C D
Gi)  (iv)
(i) (1
() (i)
) (iii)

32. In the adjoining standard diagram to explain Hicks’ trade cycle theory; which of the
following are true, when the actual value of mpc and accelerator fall in the region C ?

1)
()
(3)
(4)

1.0 D
mpc A \
\
\\
B ~.C
Accelerator

There will be oscillations (Cyclical fluctuations)
There will be explosive upward movement
There will be Steady growth

Both (2) and (3) are possible.

33. For the Harrod’s model of growth, which among the following production functions best
matches with the assumptions of the model ?

1)
()
3)
(4)

Paper-I111

Leontief production function

Homogeneous production function
C.E.S. production function
Well-behaved production function
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31.

32.

33.

Gelt-1 Bt Gelt-11 o Qrer GHferd e
=it - | =it - 1
(3mteres fa=m (3TTvTTE)

A. Sia T ehedET (i) ool ATy
B. 29 UHHIHS (i) 3The AT
C. Thdl o SuH (iii) FHE T
D. US &t Sifas @eF T (iv) U, SR
e g FT W W
H

A B C D

@ o ) i)y o (v)
() @(v) (i) (i) (i)
@) (v) (i) () (i)
@ @) (v) @) (i)

e =R Tk g & e w1 & fau U U 9He R | I vy Ot 9 99 ok 6
TS Gt &1 C H Ul &, af (=Aiichd § i a1 T&l 8N 2

1.0 D
mpc A A
\
\
\\
B .0
0 [SEC X

(1) =98 & (TehiT SAR-TETE)
(2) TR SETH G BT |
(3) ¥aa g BT |

(4) () IAT@) M AEE |

HgfE & T Hiee | H=iThd H T i ST o HiSel i AI=dIsT & gt e § 2

o~ 0o
(1) ToEMRE® 3URT He

(2) |HAT AR HoTT
(3) WIUH. SART Hor
(4) GITRIOT IR Fol
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34.

35.

36.

37.

38.

39.

In the following Cobb-Douglas production function Q = AL* KB, if o + B > 1, then the
share of labour would be

W o @ 43
® 755 @ 55

New Keynesian economics challenges which among the following schools of thought
regarding the full adaptability of a policy change on the part of economic agents ?

(1) New classical economics (2) Neo Keynesians
(3) Monetarists (4) Both (1) and (2) above

Who among the following developed the *“Wage-goods model’ of planning ?
(1) AK.Sen (2) P.C. Mahalanobis
(3) R. Nurkse (4) C.N. Vakil and P.R. Brahmanand

A key property of A.K. model is

(1) absence of diminishing returns with respect to capital.
(2) asustained dose of autonomous investment.

(3) acommand economic system.

(4) a high probability of the poorer economies to catch up with the developed
economies.

In Pasinetti’s model of growth the interplay among which variables is crucial ?
(1) Profit rate, Economic growth, Savings.

(2) Profit rate, Distribution of income and economic growth.

(3) Profit rate, autonomous investment and economic growth.

(4) Savings, Investment and technology.

Consider the following statements in relation to Karl Marx’s theory of profit rate :
l. Profit rate depends directly on the value of organic composition of capital.
Il.  Profit rate depends directly on the value of rate of exploitation.

Which of the above statements are correct ? Answer from the codes below :
Codes :

(1) Bothland Il are true.

(2) Neither I nor Il are true.

(3) Only I is correct.

(4) Only Il is correct.
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34.

35.

36.

37.

38.

39.

TR ia-STerd 3caed ®ed § Q = A LOKB, afg o + B > 1, T o1 &7 fegn e

® o @ 45
® % @ 25

T ARl TR ST Tsiel 5T ATd ARacH i JuT STpetal & way | Heifhd § fohg
TorameRT =l T ST & 2

(1) T FATDET ST (2) Ta RS

(3) Hwmm (4) SHF (1) 3R (2) I
fe=iferd o @ fohae IS & “BoTgd-a Higet” S Aaure fhar 2

(1) TH ¥ (2) U mEeEIed

(3) o TR (4) HIL.TA. Tt U U13TR, SRS
T3 Hiee I Ush Hewaqu] faeiodT &

(1) U7 o Fag | R Uidhel s St

(2) wad: fae @l Sg AaE

(3) Tt emiferek wotredt

(4)  3TUTFHA RIS STIETATS i [Tehiad STeieaenet @i fifd § o o ST FureHT

Ggtg o UfgAfe oieer | foh =R 1 37T Hewaqul € 2
(1) o™ R, NI Gghg, Tad

(2) M R, 3T H faawor R niw Tt

(3) o ST, T AT T S Hghe

(4) ==, e Y drEnf

A T o el A & T9gTd & oy § He=ifehd el W) forar

I O YOS ol ik ST o god W UeeTd: Fiik et & |

II. oY ST IM0T i 5T % oo I Jegeqd: (X el € |

ST | & B 9 T Tel & 2 A KT T Fei T Tel I B a9 A

&<
(1) 13RI TEE | (2) 13RIH Y LR T TE
(3) A I WEE | (4) FAAN T |
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40.

41.

42.

43.

44,

Which among the following is not correctly matched ?

Economist Theme
(1) Adam Smith —  Extent of Market
(2) J.B.Say —  Balance in Supply and Demand
(3) T.R. Malthus —  State of over production
(4) D.Ricardo —  Modernization of Agriculture

Which of the following statements are true for the Triangle model ?

l. It is a model developed by New Keynesian economists.

Il.  Itincludes built-in inflation in the analysis.

Which of the above statement(s) is/are true ? Answer from the codes below :
Codes :

(1) tland il (2) None

(3) Onlyl (4) Onlyll

With reference to Asian Development Bank, consider the following statements :

l. United States has the largest proportion of shares in the voting system.

Il.  China and India have the same percentage of shares for the voting system.

Which of the statement(s) given above is/are correct ?

Codes :
(1) Onlyl (2) Onlyll
(3) Bothlandll (4) Neither I nor Il

Which among the following will constitute Foreign Direct Investment (FDI) ?
(1) Buying a company in the target country.

(2) Expanding operations of an existing business in that country.

(3) Investing in the shares and stocks of companies in the capital market.
(4) Both (1) and (2).

Which of the areas given below is/are mainly funded by the International Development

Agency in the developing countries ?

l. Infrastructure

Il.  Education

I1l.  Environment friendly projects

IV. Health care

Select the correct answer using the codes given below :

Codes :
1) I, andIV (2) I, Hand I
3) L HlandIV (4) All of the above.

Paper-I111 18

J-01-16



40.

41.

42.

43.

44,

it § © S Hel gt Tl & 2

TS fowa
(1) TsHET - IR & AER
(2) war g —  Ofd 3R 96T § Her

(3) IR WoHw —  3fd 3R i et
(4) = RPET - P B SMYHRE

BT (Z3Te) Hiee % GaY § e § 9 S 9 % 6 E 0
I 98 FEH haaR et §RT foehiad Aee & |

I =9 fovciuer § *3f: Mied HEmemia’ i et fham S & |
ST H W B Y FHAT T E 2 A R MW F TS

ETE

(1) 13l

(2) I

(3) Faet |

(4) FaaAll

TR foehrd § & G5y | e el w fomm i
. HOSH UUTeAl o felT ST o O STfuehad fee ¢ |
[I. WA JOTel o [T 9 3T 9Ra & I S1aR1 ol Uiderd J9H € |

UGS YA | B TR E 9

ETE

(1) et | 2) Feall

(3) |3 Il gH OERE I EEE R E
iR o & i oot Teret FraeT i 2

(1) credifehd < § fopdl Ut ol @RS
(2) 3TV Y fTEEE ZEEE & HET B TR
(3) UST ISR § Ut & PRI qe Wikl H eer Fe

@) (1) R Q) A

foasrasiicr o § SR fowra Siyror gRT A= ST U e e o geeraan ffmmer fear
ST E 2

. T

. forem

[1l. TATERYT et TRASTT

V. e uReE

T ST 7T Fet T ITANT HT Tel 3T BT 5 H

ETE

1) 11V () 1,11
() I, 13RIV (4) SUge ot
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45.

46.

47.

48.

49.

50.

When two or more countries enter into an agreement to eliminate import quota and tariffs
and promote trade among themselves, such a group of countries are said to form a

(1) Free Trade Area (2) Custom Union
(3) A Common Market (4) Both(2) and (3)

Which among the following is/are true for Real Effective Exchange Rate of the currency
of a country ?

(1) Itis weighted average of the value of traded currencies.
(2) Itisadjusted for inflation rate of prices.

(3) Itisnot adjusted for inflation of prices.

(4) Both (1) and (2) are true.

During the episode of sustained fall in crude oil prices during the year 2015, which among
the following best describes the pricing strategy of the OPEC countries ?

(1) Transfer pricing (2) Predatory pricing
(3) Defensive pricing (4) Profit maximising prices

Which of the following statement(s) is/are true for the gravity model to explain trade ?
l. It is used in the bilateral context.

Il. It was developed by Jan Tinbergen in 1962.

I11. It takes into account the distance among the trading nations.

Select the correct answer from the code below :

Codes :
(1) Htand Il are true. (2) Only I and I are true.
(3) Only Il istrue. (4) All the three above are true.

If the offer curves of the trading countries have constant slope, the terms of trade among
them will be

(1) constant (2) decreasing
(3) increasing (4) indeterminate

In the context of the Indian economy, which of the following options correctly describe
the composition of the foreign exchange resources ?

(1) Foreign currency + loans from the World Bank + SDRs + Gold holdings of R.B.I.
(2) Foreign Currency Assets + Gold holdings of R.B.1. + F.D.I.

(3) SDRs + Gold holdings of the R.B.I. + Foreign Currency Assets.

(4) Remittances of NRIs + Exports earnings in a year + loans from the IMF.
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45.

46.

47.

48.

49.

50.
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51.

52.

53.

54.

55.

56.

Which among the following are true for excess demand function for an individual ?
(1) Homogenous of degree zero in all prices.

(2) These obey Walra’s law.

(3) Both (1) and (2) are true.

(4) Neither (1) nor (2) are true.

Which of the following measures the degree of monopoly power ? Here symbols have
their usual meaning.

AR - MR AR

1) AR @) AR-MR
MR AR - MR

®) AR-MR @ —VR

A firm will be of optimum size when
(1) Marginal cost is at a minimum.
(2) Average cost is at a minimum.
(3) Marginal cost is equal to marginal revenue.
(4) The firm maximises its output.

The time preference theory of interest was developed by
(1) Wicksell (2) Bohm-Bawerk
(3) Irving Fisher (4) J.M. Keynes

Which of the following statements is/are true for Arrow-Debreu model of general
equilibrium ?

(1) Goods are identified where they are to be delivered.

(2) Goods are identified when they are to be delivered.

(3) Both (1) and (2)

(4) None of these

If Sales tax on a commodity is raised, but the revenue earned through its sale decreases
sharply, which one of the following statements about the nature of this commodity would
be correct ?

(1) Price elasticity of demand for it is unity.
(2) It must be an essential goods.

(3) Price elasticity of demand for it is high.
(4) Price elasticity of demand for it is low.
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51.

52.

53.

54.

55.

56.
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57.

58.

59.

60.

61.

62.

The below diagrams show the risk aversion of two individuals with the help of
indifference curves. Choose the correct answer from the following by studying the

diagrams.

Y Y
u3
L%)

Expected "

Income

Expected
Income

%)
up

\
W\

X 0 X
Standard deviation Standard deviation
of Income of Income
A B

(1) Ais highly risk averse.

(2) B is highly risk averse.

(3) A’sand B’srisk aversion is identical.
(4) Degree of risk aversion is indeterminate.

One of the essential conditions of monopolistic competition is
(1) Homogeneous product (2) Product differentiation
(3) Price discrimination (4) Many buyers but one seller

Logical extension of Cournot model is
(1) Bertrand model (2) Stackelberg model
(3) Sweezy model (4) None of the above

Minimum support prices for Agricultural Commodities are fixed after taking into account
the recommendations of which of the following bodies ?

(1) Ministry of Agriculture

(2) Ministry of Food Processing

(3) NITI AAYOG

(4) Commission for Agricultural Costs & Prices (CACP)

Diversification of agriculture implies

(1) Increase in the cropping intensity.

(2) Shifting labour from agriculture to other areas.

(3) Promoting cottage and village industries.

(4) Changing the cropping pattern in favour of horticulture and floriculture crops.

Which one of the following schemes is not included in the Rashtriya Krishi Vikas Yojna
(RKVY) ?

(1) National Mission for Protein Supplements

(2) Saffron Mission

(3) Accelerated Fodder Development Programme

(4) All of the above
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58.

59.

60.

61.

62.
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63.

64.

65.

66.

67.

Assertion (A) : Agricultural Productivity is very low in India.

Reason (R) : Rate of growth of population is high in India.

Select the correct answer from the codes given below :

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

The Agricultural Census is done at which one of the following intervals ?
(1) Every year (2) Oncein 3 years
(3) Onceinb5 years (4) Oncein 10 years

The share of food expenditure in total expenditure for Urban consumer and Rural
consumer in India was 56% and 64% respectively in (1987-88) and which changed to 41%
and 54% in (2009-10). This is appropriately explained by which of the following ?

(1) Decline in food production.
(2) Decline in purchasing power of consumers.
(3) Operation of Engel’s Law.

(4) Operation of law of diminishing marginal utility.

For demand function P = 15 — 2X — X2, what is consumer’s surplus at X = 2 ?
1) 6 (2) 28/3
@) 74 (4) 1173

Given the CES production function as
1

B
y= [alx‘i+a2x§]
the elasticity of substitution between factors is
1 1 2 p

Q) 1p 4) 77—
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64.

65.

66.

67.
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(1) 6 (2) 28/3
(3) 7/4 (4) 11/3

1
¢ o s o y = [ay x§ + 2, x 8] Feat 7 &, < et 2 e e o i di
M 1 @ »p

() Up @ 1-5

J-01-16 27 Paper-111



68.

69.

70.

71.

72.

Paper-I111 28

For the diagram below, which of the following is a correct description in terms of
derivatives :

Y
0 X
d d? d d?
(1) §>0gr<O (@) <0 3<0
d d? d d?
3) a¥>0;&%>0 4) a¥<0;&%>0

Which of the following is true for an optimum solution of a linear programming problem ?

(1) Number of non-zero valued slack variables is equal to the number of constraints.

(2) Number of non-zero valued variables (including slack) is exactly equal to the
number of constraints.

(3) Number of non-zero valued slack variables is equal to the number of binding
constraints.

(4) Number of non-zero valued variables is equal to the number of non-binding
constraints.

If the targets for an economy are fixed in terms of final demand vector F, then the
compatible levels of output vector X, in terms of input-output analysis will be determined
according to which of the following ?

(1) A+F=X (2)
@) (-ATF=X (4)

AX —F = X
(I-A)F=X

In a two-variable regression, Y is dependent variable and X is independent variable. The
correlation coefficient between Y and X is 0.8. For this, which of the following is
correct ?

(1) 8% variations in Y are explained by X.

(2) 64% variations in Y are explained by X.

(3) 0.8% variations in Y are explained by X.

(4) None of the above.

If OLS is applied separately to each equation that is part of a simultaneous equation
system, the resulting estimates will be

(1) Unbiased and consistent (2)
(3) Biased and inconsistent (4)

Biased and consistent
Unbiased and inconsistent
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69.

70.

71.

72.
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(1) A+F=X
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73.

74.

75.

Generalized Least Squares Method is suitable for estimation of parameters in a General

Linear Model for dealing with problem of
(i)  Measurement Errors (i)  Autocorrelated Disturbances
(iii) Multi collinearity (iv) Heteroscelasticity

Select the correct answer from codes given below :

Codes :
Q) (@), (i), (iii), (iv) (2) (i), (iii), (iv)
(3 (i), (iv) 4) (i), (iii)

Match the following and select the correct answer from codes given below :

List—1 List - 11
a.  Goldfield-Quandt Test (i)  Errors in variables
b.  Durbin-Watson Test (i)  Heteroscelasticity
c.  Farrar-Glauber Test (iii)  Autocorrelation
d.  Wald-Bartlett Method (iv) Multicollinearity
Codes :
a b C d

@ Gv) @) (i) ()
) @) () @i (v)
@ @0 @Gy (v) (i)
@) @) i)y - (v) (i)

Consider the following system of equations, using standard notations :
Y =og+ oY, +osYs+ o,X, +aX, + U

Yo =Byt By Y3+ BYy +BsX, + U,

Y3 =70 T 11Xy 10X, +13X3 + Ug

According to order condition, the second equation is

(1) Unidentified

(2) Just identified

(3) Over-identified

(4) Not possible to infer identification due to incomplete information.
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75.

T e At | UTEel o HTaeheld o [oTT |THIRIR =Ias o fafe fond Smear 61 qaree
X & e & 2

(i) @ e

(i) o TegE e

(iii) S

(iv) foroefermar

e 15T 7T et § HEl I I TIT

@ (), (i), (i), (iv)

(2) (@), (iii), (iv)

(3 (i), (iv)

4) (), (iii)

freAifeRd T GAfeTd Y oo =i 13T 7T i & Tel TR 1 =97 A
=it - | =t - 1

a. Ticethos-Jdre TIeToT (i) =RaFfe

b.  SIoH-ameET T (i)  foomfermtean

C. THRTEER URIETOT (iii) . Tedey

d. dceacee oty (iv) TggEa

k3

a b c d

@ Gv) @) (i) ()
) @) () @i (v)
@ O Gy (v) (i)
@ @iy (i) (v) ()

A 0T T ST A T THIHION st iR Fomelt W fa=m = -
Y=oy toyY,+agYs+a,X, +ogX, + U

Yo =B+ BrYg+ ByYy+ BeXy+up

Y3 =Y+ 11Xy F 1Ky T 13X3 + Us

W Il o STTER TERT FHIHT &

(1)  oF-arfaiiea

(2) W& IR

(3) et SR

(4)  3TUT GEAT o HROT SAHTEROT T ST FAT T el § |
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